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Where on a river can you hold a cup upright to catch water on a sunny day?
v waterfall, Xbridge, Xvalley, Xpebble, Xmountain
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(waterfall, Is4, vertical flow of moving water)
(upright, synonym, vertical)
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! puzzles or riddles?
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uzzle is a problem. Riddle is a problem.
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\ v ___ 1 Person desires intellectual challenge.
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roblem is the same as challenge. Puzzle
is used for challenge.
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K13 R 2 - J | What is a person looking for when completing i
! puzzles or riddles? | .
@ 'A avoid pain | B. intellectual challenge | ! ,{j\ﬁg /\ 7] %}ﬁ%ﬂ —‘/[\’@gifi%%
! 1 C. compliments | D. attention | E. passing grade

%ﬂﬁ:{ﬁ? i | puzzle | | riddle | @5 %DTEPE] EPB/JT%JU\ ILE@B
N T
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[Intellectual challenge | [ challenge ¥

IS sl
s4top ———  Person desires intellectual challenge. | ‘/_,‘\\ / MO IR AA
@ Sz —E Puzzle is a problem. Riddle is a problem. i = EI/J %H‘L/\%/TI °
ARt | Problem is the same as challenge. Puzzle !
AR |________isusedforchallenge. |
romTsommm———---o—
%Q@?q%; _____________ 1 | B. intellectual challengeI

puzzle—»ISA—>pr0blem—>Syn0nym—>challenge =
SERE R “Intellectual challenge” FH7<H)2BkH1TH A



:P PR B AR SE I = - AL B E R

Chinese Information Processing Laboratory

E T AR B SO R B r R ) S

K13 R 22 - - _:r What is a person looking for when completing
| puzzles or riddles?
| A. avoid pain | B. intellectual challenge |
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[Intellectual challenge | [ challenge ¥

IS sl
@ FRHEAR - 1 Person desires intellectual challenge.
NI ! Puzzle is a problem. Riddle is a problem. i —
]F—E‘Jlifﬁﬁg i Problem is the same as challenge. Puzzle | HIIRBEAE | Puzzle = Is4 > Problem = Synonym = Challenge
: is used for challenge. | . .
@ b P Rp Puzzle is a problem. Problem is the same as
S 2 J'I—B intellectual challengeﬂ: challenge.
S/ S = !

5 ki Puzzles are problems. The problem is the same as
the challenge.

K&k | Puzzle problem is a challenge game for children.
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@ @ | 1 A. avoid pain | B. intellectual challenge | RIS AR BT R 2
|C. compliments| D. attention | E. passing grade
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SR
- FiRsE:
> EHEHPEEE:. CommonsenseQA;
> B EdESE: Winograd Schema Challenge (WSC). HellaSWAG. SOCIAL 1Qa,
o HIHFIHZE: ConceptNet,
> Maetal. (2019) —— HE = JIALH] + 1250 L8’ 2% (Option Comparison Network).
> Lvetal. (2020) —— [EI# £ W 4.
> KEDGN —— FE| g M 2%,
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%u-i/p\ @J i zlg%;}ﬁ%&‘ﬁ% e HIRR BERT XLNet  RoBERTa _ ALBERT

A - 88.9 88.9 88.9 88.9
i R A LhrE 81.1 85.1 84.7 83.7
\ . . HRB| AR
> HRB| SCA T TR R AR R BURELHTE  ConceptNet 67.9 775 78.1 81.1
b2 B A% SRR ConceptNet 67.2 74.9 77.8 79.3
FIERAAE . KRR ConceptNet 65.0 75.0 77.1 79.4
> SR SCARFE L AE A ) 1A SERER ConceptNet 70.4 80.3 80.8 83.3
o ‘ AFBUISEEER et 69.0 79.3 80.8 @
> ZFRNR B ORI RENS HAD,  _BLEm B P (Mactal 2019) (Lvetal.2019)  (KEDGN)
H R ToHIH 63.6 68.9 76.2 78.6
ey pugar : CommonsenseQAZIHEER 11 ZEERf =
[ * 2
L%ﬂ T/D\§|J izkigﬁmﬁﬁiﬂﬁﬁﬁg ° : kit WSC HellaSWAG SOCIAL IQa
________________________________ BERT 66.0 423 66.2
+ I 68.1 44.2 68.8
RoBERTa 81.4 82.5 74.3
MR KE BERT XLNet RoBERTa ALBERT + HIR 82.5 83.0 75.0
1 Bk 67.1 74.7 77.9 80.0 ALBERT 84.9 86.1 77.2
2 Bk 67.9 71.5 78.1 81.1 + HIH 87.0 86.9 77.8
3 Bk 65.0 68.6 77.2 79.2 AN 92.1 94.5 86.9
HITH FEAR K BE X CommonsenseQA 25 2 HEHf K 1 52 HoA i ) BB RS RMERR, R FOREH

Wi, o P TSR ) SR B SO BT AR B SR AR IR M2 B AR B AR
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%[[ 'i}:{ @J iz’i%:}ﬁ B(J &*j{% TR AR BERT XLNet  RoBERTa  ALBERT
S - 88.9 88.9 88.9 88.9
FrvE FR AR AN ThrgE 81.1 85.1 84.7 83.7
N N Y VY ﬂm@]iﬁ%ﬁ
> FHAR S SO FITR S 35 7Y 5 BUBGEHGITE  ConceptNet 67.9 775 78.1 811
N1 e LA st i EBUN RN ConceptNet 67.2 74.9 77.8 79.3
AR R ;. ConceptNet 65.0 75.0 77.1 79 4
> IR B AR R SR F) FHHHH. SEREAR Y ConceptNet 70.4 80.3 80.8 83.3
- \ ] ‘ ARTINGES ConcentNet 69.0 79.3 80.8 )
> = MPRIRE SORHRIARENE Bk, BLLavB Eveae P (Maetal 2019) (Lvetal. 2019)  (KEDGN)
HRIAERL oA 63.6 68.9 76.2 78.6
ey pugar : CommonsenseQAZIHR AL L 11 % L ERf R
| . —_
L%ﬂ T/D\§|J izkigﬁmﬁﬁiﬂﬁﬁﬁg ° : kit WSC HellaSWAG SOCIAL IQa
________________________________ BERT 66.0 42.3 66.2
+ HIiH 68.1 44.2 68.8
RoBERTa 81.4 82.5 74.3
MR R AR K B BERT XLNet RoBERTa ALBERT + A 82.5 83.0 75.0
1 Bk 67.1 74.7 77.9 80.0 ALBERT 84.9 86.1 77.2
2 Bk 67.9 71.5 78.1 81.1 + HIH 87.0 86.9 77.8
3 Bk 65.0 68.6 77.2 79.2 AN 92.1 94.5 86.9

HIH AR A K BE X FCommonsenseQA |2 2 HERf 21 5
M), A B TSR A N TR B SO R B
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A

ﬁn‘}:@u iz[:%ﬁ%&k% FE Ry SRR BERT XLNet RoBERTa ALBERT
JE - 88.9 88.9 88.9 88.9
b UEFI R R N TARE: 81.1 85.1 84.7 83.7

iH
> FHAR S SO FITR S 35 7Y 5 & *ﬁf)g%ggg ConceptNet 679 775 78.1 81.1
=Ry =2 ik y ConceptNet 67.2 74.9 77.8 79.3
BT iggﬁgg ConcegtNet 65.0 75.0 77.1 79.4
> SR 3] SCAS T RE SRR T HH . | S A ConceptNet 70.4 80.3 80.8 83.3
B i i ARG E S ConcentNet 69.0 793 80.8 )
> SRR AR B R T A, B brBiEikes p (Maectal. 2019) (Lvetal. 2019)  (KEDGN)
AR JoHIA 63.6 68.9 76.2 78.6
e Ty 2l i e b B A A e B R : CommonsenseQA K512 R HER =%
L%ﬂ T/D\§|J izkigﬁmﬁﬁiﬂﬁﬁﬁg ° : B WSC HellaSWAG SOCIAL IQa

BERT 66.0 423 66.2
+ FiR 68.1 44.2 68.8
RoBERTa 81.4 82.5 74.3
MR KB BERT XLNet RoBERTa ALBERT + HIH 82.5 83.0 75.0
1 Bk 67.1 74.7 77.9 80.0 ALBERT 84.9 86.1 77.2
2 Bk 67.9 71.5 78.1 81.1 + HIH 87.0 86.9 77.8
3 Bk 65.0 68.6 77.2 79.2 Ak 92.1 94.5 86.9

HIH AR A K BE X FCommonsenseQA |2 2 HERf 21 5
M), A B TSR A N TR B SO R B

A T ) BB AR L B R AER R
FE AR R B SCAR L BE AN 2 B R S A
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_____________________________________________________l

N TARHR AR _
B R RERY HR YR BERT XLNet RoBERTa  ALBERT
RFT R A, A% - 88.9 88.9 88.9 88.9
(Rajani et al. 2019) PR AERN R AR PR Vi 81.1 85.1 84.7 83.7
HHRESCAREE e
MR 40 S5 ConceptNet 67.9 77.5 78.1 81.1
SREE ConceptNet 67.2 74.9 77.8 79.3
o R ConceptNet 65.0 75.0 77.1 79.4
SERRIAL ConceptNet 70.4 80.3 80.8 83.3
AFIGES
ggggéﬁ;& ConceptNet /. e6tzi.() 2019) (Lv eza91t32019) (K8E(]))(§N) (A
H AR JoHIH 63.6 68.9 76.2 78.6

CommonsenseQAZIHESE FHYE B UER R
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Q2: B ATEYF IR BAR AL A
i 1R 412 AL F Ao ?

> BARA: SFERRERREREEEMEL, ARAERAEEEE.
> ARSI R AEAR U SR SO AERG A RIS A T, AR IR YA IR
> TRNZRACAL: A RTINS E S A2 2 f B RO T R B R AR A2

_______________________________________________________|

o
A2 BRTRYE IR A S RBURGETE S ZAESMBAIRRYE A .

A H13AYE BERT XLNet RoBERTa ALBERT
A% - 88.9 88.9 88.9 88.9
b v HR R N LhRE 81.1 85.1 84.7 83.7
SR B SCAREE

A A 4 B ConceptNet 67.9 77.5 78.1 81.1

S IRFE A ConceptNet 67.2 74.9 77.8 79.3

O R ConceptNet 65.0 75.0 77.1 79.4

TR T ConcentNet 70.4 80.3 80.8 83.3
ARTIGES 69.0 79.3 80.8
B F R EefErERE ConceptNet (Maetal. 2019) (Lvetal. 2019)  (KEDGN) D)
AR TCHI 63.6 63.9 76.2 78.6
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LA RERF) B AR 88 Q2: AATHYHF R AR EAIRNE |
i 1/\4:‘37(/\ 667{?_ &U{T? :

> BN SRR RS, U B RO R ‘
> ASORE: AR R R MR AR T, AR AR, x ELERIHERR
> BUIGBTR: BUARBIE S U B R T LA AR AL x FIPIE 152 2

x IgeRE HIH

_______________________________________________________|

B SRR BERT XLNet RoBERTa  ALBERT
A% -- 88.9 88.9 88.9 88.9
FRAE AR AR A ThRYE 81.1 85.1 84.7 83.7
FR B SCAF #
MR 40 S5 ConceptNet 67.9 77.5 78.1 81.1
SREE ConceptNet 67.2 74.9 77.8 79.3
o R ConceptNet 65.0 75.0 77.1 79.4
SERRIAL ConceptNet 70.4 80.3 80.8 83.3
ﬁj;ﬁi;ﬁ&;;g‘a ConceptNet /. e6tzi.() 2019) (Lv eza91t32019) (K8E(]))(§N) (A
H AR JoHIH 63.6 68.9 76.2 78.6
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Q2: B AT &Y F IR SARELA) AR
1R 412 AL F Ao ?

> AR SRR R R L, BRI A RO P REZE .
> RSO AR AU % (A SEOIAE R B AR A T, ASCR IR R T ).
> WISGER: HEMBIGESEREDINE RARNTERESRANL.

_______________________________________________________|

A H1AYE BERT XLNet RoBERTa ALBERT
&S -- 88.9 88.9 88.9 88.9
b AR AR N T AR 81.1 85.1 84.7 83.7
HIR B U e
R RN ConceptNet 67.9 77.5 78.1 81.1
SREE ConceptNet 67.2 74.9 77.8 79.3
o R ConceptNet 65.0 75.0 77.1 79.4
SRR AL ConceptNet 70.4 80.3 80.8 83.3
ARG
Gl I_JI; Eﬂuﬁlﬁﬁ Iﬁn ﬁnﬁ ConceptNet e6tzi.() 2019) _(Ly eza91'.3201 9) @8(1)3&) (A
AR JeHIR 63.6 68.9 76.2 78.6
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« JHIiHXJSpatial, Cause & Effect, Activity, Purposeig iHEE JJ AR KIZT;.

« X} Definition, Social. Has partsZ¢H HaE ), FRATERITE R /.
> ConceptNet%»Q%H»QEEL%%EH’J%D At E U

60 O Total
@ Correct with knowledge

B Correct without knowledge

Numbers
w B
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iR A 20|
[=iF=I What do airplanes do as they are arriving at the gate?
KA BEARRIAIR | ik s \ slow down | x land | x crash| * speed up | % carry people
(21/50) TEBREZ2 R A airplanes can slow down.
PRAITINE LM HRHSA  airplanes can speed up.
[aip-21] 1 took my seat, the curtains drew back and I enjoyed the what?
. kg g x auditorium | * theatre| x movie | \ show | x airplane
ﬂ%:il;l};ﬂ IEREZEAIA curtain is located in show. cover is opposite to back. person is located in show. show is located in opera.
curtain is located in opera. show is located in theater. curtain is located in theater.. ...
BRI ZRSNA  movie is located in theater. curtain is located in theater.
i) 2 Animals come in all types, some fly thanks to their lightweight hollow what?
ARG MR 5 x heads |  tails |\ bodies | x bones | x eyes
(13/50) IR R bones is located in person. person desire fly.

MRS LI ASE  [NO KNOWLEDGE FACT IS RETRIEVED)
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L BATRE T —Fhfe] B A R BT R B SO ey 7 R AR
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2. WAMVESHERABEERE LT T HR K .
il A SRR O T 5 R A S5 R BRI T
PSR A I E LR BB TR A A IS MR RIR T )
Fe ARSI SR 1 AR B = AR T
> BT SO SR X T A R T AR G O
> GRS ORI SRR SRR I AT,
> AEBYIGRE B A 2 3 R AT (R
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